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5 Human population explosion is causing severe resource

depletion and environmental dcgradation. Justify the

statement, giving appropriate examples. (10)
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Compulsory question:

(sIM qqq)

l. (a) State whether true or false : (5x l:5)

(i) The Royal Bbngal tiger is endemic to lndia

(ii) Kyoto Protocol is an international treaty

aimcd to rcduce tlrc emission olgascs thar

conrribute to global u arming.

(c) Impacts of Ozone layer depletion
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(a) India is one of the seventeen megadiversity nations

globally. Substantiate this statement giving

appropriate reasons and examples.

(b) What are the criteria for aay region to be declared

as a Biodiversity hotspot? (5+5)
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2 Differentiate between the following (attempt any

two) (2x5:10)

(a) National Green Tribunal and National Green Corps

) . (b) Biosphere Reserve and Biodiversity Hotspot

(c) In-situ conservation and ex-situ conservation
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Write short notes on the following (attempt any

two) (2x5:10)

(a) Levels of Biodiversity
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(iii) Silent valley movement took place in

Uttarakhand.

(iv) Wildlife Protection Act came into existence

in the year 1972.

(v) Ozone layer is situated in the mesosphere

layer of atmosphere.
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(v) ffi{ crd qrgrsd fr tffici {rt + Rrfr
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(b) Fill in the blanks : (5xl:5)

(i) The Great Indian Bustard has been listed

as 

- 

on the IUCN Red

List of Threatened Species.

(ii) Acid rain is caused by the release of

and 

- 

into the atmosphere.

(iir) 

- 

is the drug that was responsible

for large scale death of vultures in the

Indian subcontinent.

(iv) 

- 

is a measure of .the

amount of greenhouse gases released by

various activities of an individual or entity.

(v) Convention is an international

treaty for the protection of wetlands.
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